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COMPREHESION 1. A) Bob is too tired to study any more. B) Bob

didnt hear the alarm. C) He told Bob not to study late at night. D)

He had often advised Bob to study hard. 2. A) Obtain clothing for

the Smiths. B) Have a party for the Smiths and Alan. C) Mail an

invitation to the Smiths. D) Ask the Smiths to tell her where they live.

3. A) The crowd is very noisy. B) The show is very difficult to

understand. C) The theatre is too big for the show. D) The room is

too small for the audience. 4. A) The weatherman is usually accurate.

B) The weatherman is usually inaccurate. C) Itll be sunny all day. D)

Itll be raining all day.来源：考试大的美女编辑们 5. A) Get a new

television set. B) Find another repairman. C) Sell the TV to someone

else. D) Demand a check from the TV station. 6. A) Miss Gray goes

to work on time. B) Miss Gray wanted to see Mr. Frank. C) Miss

Gray is always late. D) Miss Gray no longer wants to work there. 7.

A) It is closed. B) 12 at noon to 9 p.m. C) 9 a.m. to 5 p.m. D) 9 a.m.

to 12 at noon. 8. A) 150. B) 160. C) 50. D) 120. 9. A) May 5. B) May

17. C) May 7. D) May 15. 10. A) By plane. B) By bus. C) By train. D)

By car. Passage 1Questions 11 to 13 are based on the passage you

have just heard. 11. A) Men can understand things quickly. B) Men

can learn. C) Men have learned to use language. D) Men have

brains. 12. A) An ape can make noises. B) An ape can understand

things. C) An ape can learn words. D) An ape can speak like men.



13. A) How children learn to speak. B) Why apes can learn a few

words. C) Mans brain helps him learn to speak. D) What happens

when men speak. Passage 2Questions 14 to 16 are based on the

passage you have just heard. 14. A) The museums are a financial

success. B) The public should support cultural institutions. C) Many

people are leaving New York. D) People are very interested in

museums. 15. A) To give financial help to museums. B) To leave

New York and settle else where. C) To visit museums every day. D)

To be interested in keeping New York financially healthy. 16. A)

They are having less tourists. B) The government gives them less

money. C) People are not interested in them any more. D) Too

many hotels are built around them. Passage 3Question 17 to 20 are

based on the passage you have just heard. 17. A) Cleveland. B) New

York. C) Chicago. D) Iowa. 18. A) Seventeen. B) Nineteen. C)

Eighteen. D) Sixteen. 19. A) He ran a restaurant. B) He became an

author. C) He worked on T.V. D) He became a painter. 20. A) It

was attended by more than 1500 relatives. B) It was celebrated at the

TV station. C) It was held in 1961. D) It was reported by over 100
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